
Factorisation d'Exposants (C)
Décomposez chaque exposants en facteurs.

214 =

2312 =

172 =

256 =

95 =

182 =

253 =

79 =

255 =

121 =
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Factorisation d'Exposants (C) Solutions
Décomposez chaque exposants en facteurs.

214 = 21 × 21 × 21 × 21

2312 = 23 × 23 × 23 × 23 × 23 × 23 × 23 × 23 × 23 × 23 × 23 × 23

172 = 17 × 17
289

256 = 25 × 25 × 25 × 25 × 25 × 25

95 = 9 × 9 × 9 × 9 × 9

182 = 18 × 18
324

253 = 25 × 25 × 25

79 = 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7

255 = 25 × 25 × 25 × 25 × 25

121 = 12
12
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59 049
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40 353 607

9 765 625


